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Botile integrity: First test lower peicock then lest top valve 0 means pass, 1 means fail If niskin fails, explain this in the comments column
Comments:



b ¥ achually caat 499 and SO0
Rosette Log for I0S Cruise ID 2014-56  Ship: £V Fosti

Cast # 4’ q a / 4‘1 1 UTC Date (ddmmmyyyy) /‘_’L |j_ 12014 Ice CoverageO_/lO_ Water Depth(from surface) Z 70 m
Station BO L~ 0 —z‘ UTC Time _L&O ?) | { 84 :J' In Alr pressure (before/after) ! Sound Speed
cTD File 201486014 & J Lat (N) 6‘1 25 438 Lonw)__ \\& 4] 37 CTD Operator__ Mo~ b ~\
%19 ba 25 417% 19 41. 494
2%
. on X 52|38 _|=l=]12|2
Samp # Target Depth(m Niskin € - 3' 5 2= Tt' s ﬁ e % g R B 8 Comments
P Property pi(m) | %,'% g z|lo|®|w 515 § R R S 2 E g S
=)
641 B-10 [260 1 vV 1
447 250 | 2 "1V 2
613 \ 58 | 3 iz 3 2Z.) Sa( - 155
|/) o ‘:f \7/6 4 JIV 4 _ \
495 1¢0 | s "1V 5 no sa e ‘o Sholloud gp (woning cu T
64 6 op) V]| v 6 :ID AChan, (\\l oY \'N\‘\‘\’O(’l\ ) s
617 7o |NVi v 7 3 A >
(9% o |7 v 8
699 CCHEY | 4 9
—1 00 50 +t 10 cCliL HAY¥Y = 50
Zul vd g ik
_'ZU?. 40 |t iZ v 12
o3 20 [/ Vv 13
ok 29 181} v 14
yZ233 10 a1 v 15
706 5 lp] % 16
—Jo T 5 nt ﬁ 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24

Botlle integrily: First test lower petcock then tesi top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column
Comments:
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Botlle integrily: First lest lower petcock then test top valve, 0 means pass, 1 means fail. M niskin fails, explain this in the comments column
Comments:
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Bollle integrity: First test lower petcock then test lop valve, 0 means pass, 1 means fail If niskin fails, explain this in the comments column
Comments:
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Bolile integrity: First tesi lower petcock then lest top valve, 0 means pass, 1 means fail. If niskin fails, explain ihis in the comments column
Comments:
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Botile integrity: First lest lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column

Comments:
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Botile integrity: First test fower pelcock then test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column.

Comments:
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Bottle integrity. Firsl test lower petcock then test top valve, D means pass, 1 means fail. If niskin fails, explain this in the comments column

Comments:
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Bottle integrity: First test lower petcock lhen lest top valve. 0 means pass, 1 means fail. If niskin fails, explain his in the comments column
Comments:
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Bolile inlegrity: First test lower petcock then lest top valve. 0 means pass, 1 means fail If niskin fails, explain this in the commenls column

Comments:
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Bottle integrily: First lest lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column.
Comments:
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Botile integrity: First test lower petcock then fest top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
Comments:
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Bottle integrity: First test lower petcock then tesi {op valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column.
Comments:
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Bottle integrity: First {esl lower pelcock then test fop valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
Comments:
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Botile inlegrity: First test lower peicock then test lop valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
Comments:
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Bollle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail f niskin fails, explain this in the comments column
Comments:
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Botlle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column.
Comments:
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Botile integrily: First test lower petcock then lest lop valve 0 means pass, 1 means fail. If niskin fails, explain this in the camments column

Comments:
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Botile integrity: First test lower pelcock then tesi {op valve. 0 means pass, 1 means fail 1f niskin fails, explain this in the comments column
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Bottle integrity: First test lower pelcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column.
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Botile integrity: First test lower petcock lhen lest top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the commenls column
Comments:
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Boltle integrity. First test lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column

Comments:
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Botile integrily: First lest lower pelcock then test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column.
Comments:
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Bottle inlegrily. First test lower petcock lhen test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column

Comments:
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Boltle integrily: Firsl test lower palcock then test top valve, 0 means pass, 1 means fail If niskin fails, explain this in the comments column
Comments:
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Botile inlegrity: First test lower peicock then tesi lop valve. 0 means pass, 1 means fail. f niskin fails, explain this in the comments column
Comments:
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Bollle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
Comments:
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Boltle infegrily: First {est lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
Comments:
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Botlle integrily: First test lower peicock then lest top valve 0 means pass, 1 means fail. If niskin fails, explain this in the comments column.
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Bottle integrity: First test lower petcock then test lop valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
Comments:
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Bettle integrily: First test lower petcock then test fop valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column '!
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Botile integrity: Firsi test lower petcock then test {op valve. 0 means pass, 1 means fail. M niskin fails, explain this in the comments column
Comments:
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Bottle integrily: First test lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column.
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Boltle integrity: First test lower petcock then test top valve, 0 means pass, 1 means fail. If niskin fails, explain this in the comments column.
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Bollle integrity: Firsl test lower pelcock Lhen test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in lhe comments column

Comments:
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Boltle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
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Rosette Log for I0S Cruise ID 2014-56 Ship: AV Frosti
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Bottle inlegrity: First tesl lower pelcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the commenls column
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Bottle integrity: First tast lower petcock then test lop valve. 0 means pass, 1 means fail. 1f niskin fails, explain Lhis in Ihe comments column
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Boltle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
Comments:
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Bolile integrity: First test lower pelcock then test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column
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Bottle irftagrity: First lest lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
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Bottle integrity: First lest lower petcock then test lop valve. 0 means pass, 1 means fail. If niskin fails, expiain this in the comments column.
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Botlle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column.
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Botlle inlegrity: First test lower petcock then lest lop valve 0 means pass 1 means fail. If niskin fails, explain this in the commenls cofumn,
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Botlle integrily: First test lower pelcock Lhen test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column.
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Botlle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column
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Bottle integrity: First test lower petcock then test top valve. 0 means pass, 1 means fail If niskin fails, explain this in the comments column.

Comments:




Rosette Log for 10S Cruise ID 2014-56

Ship: AV Frosti

Cast # 5 UTC Date (ddmmmyyyy) _l_lﬂﬂ Ice Coverage = /10 Water Depth(from surface) 2 m
Station A UTC Time ! In Alr pressure (before/after) 210 sound Speed
CTD File 201244 Lat (N) __— Lon (W) CTD Operator__ 21
2§ B .
. S5 X 5| 2|8 _|®|=2| 2|5
% . a o |© 8 Z | w % [a
g
- L ! = s 1 >
- : 2 2
.. ) € s i
4 4 i
¢ 5 5 ¥
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 18
16 16
17 17
18 18
19 19
20 20
21 21
22 22

Boitle integrity: Firsl test lower petcock then lest top valve, 0 means pass, 1 means fail. If niskin fails, explain this in the comments column
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Bottle integrity: First tesi lower petcock then test {op valve. 0 means pass, 1 means fail. If niskin fails, explain this in the comments column. M .
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